IM2 Problem Set 1.1 - The Art of Problem Solving

e mastery with linear algebraic skills to be used in our work with coordinate

BIG PICTURE of geometry (midpoint, length, slope)
this UNIT: e understanding various geometric properties of quadrilaterals, triangles & circles

how do you really “prove” that something is “true”?
introduction to working with 3D shapes

Part 1 - SKills Review

1.

A

Solve for x and verify your solutions:
a. 5x-9=13 b. —2x +7 = -3 c. 8-x=3x-1 d.1-3x=2x-9
Graph the line through the points A(2,5) and B(6,—3).
Find the slope of the line through the points A(2,5) and B(6,—3).
Find the equation of the line through the points A(2,5) and B(6,—3).

Determine the slope of a line perpendicular to line AB.

Part 2 - Problem Solving

Problem 1: The Camel Problem

Please work in your groups to solve this problem. Show your work with pictures, charts... anything. Your

process and solution must be understandable by simply looking at your work.

The Problem...




There is a camel on the edge of a 1000 km wide desert. Beside the camel is a pile of 3000 bananas. The camel
can carry at most 1000 bananas at a time. For every kilometer it walks, the camel must eat one banana. What is

the largest amount of bananas the camel can end up with on the other side of the desert?

Extension Questions:
How do you know if your solution is the “correct” answer?

How does the problem change if you have 6000 bananas and the desert is 2000 km wide?

How does the problem change if you have B bananas and the desert is K km wide?

CONTEST CORNER

ceme. uwaterlno.ca

1. In the diagram, JLM R and JEKQR are rectangles. 7 K L
Also, JR = 2, R{) = 3 and JL = 8. What is the area
of rectangle KLMQ? 2
(A)6 (B) 16 (C) 10
(D) 15 (E) 24 R 3 0 M

2. The mean (average) of five consecutive even numbers is 12, The mean of the
smallest and largest of these numbers is

(A)12 (B) 10 (C) 14 (D) & (E) 16

3. In the diagram, the numbers from 1 to 25 are to be 20 | 21
arranged in the 5 by 5 grid so that each number, except {i Do 4
1 and 2, is the sum of two of its neighbours. (Numbers 28 | 7|1 13|17
in the grid are neighbours if their squares touch along a 918 ]2
side or at a corner. For example, the “1" has 8 25 | 22

neighbours.} Some of the numbers have already been
filled in. Which number must replace the “7" when the
grid is completed?

(A) 15 (B) 12 (C) 14

(D) 11 (E)13



